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int _ cdecl main(int argc, const char **argv, const char **envp)

{

b

signed __int64 bufl_len; // rcx

char *flag mid_i; // r@

_ int64 buf2_i; // rax

unsigned int w6; // edx

char v7; // cl

char buf_5_8[6]; // [rsp+28h] [rbp-Eeh]
char bufl[256]; // [rsp+3@h] [rbp-Dah]
char buf2[256]; // [rsp+l38h] [rbp+3eh]

memset(bufl, @, Bx18Buic4);
memset(buf2, @, Bx188uisd);
printf_wrapper("KCTF 2@828!%n");
printf_wrapper("http://bbs.pediy.com\n™};
printf_wrapper("Please input your flag: ");
scanf_wrapper("%s", bufl, 256i64);
bufl len = -1i64;
do

+Hbufl len;
while { bufl[bufl_len] };
if ( (_DWORD}bufl_len == 12

8% bufi[e] == 'f'
%% bufi[1] == '1'
2% bufi[2] == 'a’
8% bufi[3] == 'g’
2% bufi[a] == '{'
8% bufi[11] == '}' )

1

flag_mid_i = buf_5_8;
buf2 i = @ic4;
*(_WORD *)}Bbuf_5_B[4] = *{ _WORD *)&ufl[9];
ve = 8;
*( DWORD *}buf 5 8 = *(_DWORD *)&bufi[5];
while { {unsigned _ int8)(*flag mid i - "@")
1

+Hvi;

++flag_mid_i;

if ( ve »=6)

<= 9u )

1
buf2[@] = bufl[5];
buf2[1] = bufi[5] + bufi[6] - 48;
buf2[2] = bufi[5] + bufl[6] - 48 + bufl[7] - 48;
buf2[3] = bufz[2] + bufi[8] - 48;
buf2[4] = buf2[2] + bufl[8] - 48 + bufl[9] - 48;
buf2[5] = bufz[4] + bufli[1@] - 48;
while ( 1 )
1
v7 = buf2[buf2_iH+];
if ( v7 Y= a2efi[bufz_i - 1] )
break;
if ( bufz i ==7)
{
printf_wrapper("You are winner!yn™);
return @;
b
}
break;
}
b
}

printf_wrapper("Try again!in");
return -1;
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)

BREFE T
rdata:2000000140083268 aTryAgain db TTry again!',@8sh,8 ;
.rdata:2000000140003274 a2Efi db " ]
rdata:2000008140003278 align 2eh
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ord ("7 J4+dBordiT2 )

chr (873

ord{’ =" )+48+48-o0rd{ 2" )—ord{’
ord{’ =" )+48+48-o0rd{ 2" )—ord{’
chr (80}

ord{"E" )+48-ard{ ="}

chr (B8}

ord (" F ) 448+48-0rd (" 8" J)—ord
chr (48}

ord{"T" ) +48-ard ('F" )

chr {51}

flag{292813}
encryted: 2;=EFI
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